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Answer1l

(a) nis an'integer.  [J HOLE
Numgoe

-1 <n<4
List the possible values of ».
-l o 1,7,3

/

= -
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Answer 2

(c) Solve y—2>5
i =)

[
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Answer 3

(b) Solve the inequality 8x—-3 > 6x+4
(Do A2 (F Mg EQuUAT! ow)

Loz -3 2 Cxxe+4
—Cxc —6x
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Answer 4

(b) Solve the inequality 3p—7>11

/

Just Lice Sovving
kv EQuATION

2p-72> I
prlls
> |

5o
p>é

#
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Answer 5
(b) Solve 6&/—2)>15 GeorGege L EuUD PR
Gz
fﬁ éx -2 >(&
+1Z + (2
LcT
= é;c s _7:_?:
6 &
2
2C 2 &8
ﬁ?f
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Answer 6

COHGELE NumRER

m is an integer such that —2 <m < 3
P

(a) Write down all the possible values of m.

@, i
—t— \ f % ; 1 y
X -2 — o ( 2 XS %
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Answer?7

QREATE (HAD

(a) Solve the inequality 6y +5>8
g =S

c9.2 >
& &
42

g
718
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Answer 8

gy 1S QREATE . THARN

Solve 6x+4 >x+ 17
~DC. 2

Sx< & > |2

nz(, Hq‘“
Sx> 13
S <

x> oo =>776
———
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Answer 9

Here is a cuboid.

xL =

3x

v

All measurements are in centimetres.
x is an integer. — |JHALE Now B EW
The total volume of the cuboid is less than 900 cm’

CuRoID

Show that x < 5

Voume < 900

ZQQY ZQCY NS CE(TO

6> < 900
é A
2 g -’SZ)
o2C L % CouRex
> < 150 %3:_,2’?
s
>C ls Uerapny & o6 (" =6¢
53:['L§
Co > | TLanc Ao [NTTael .
Crao B AT MosT 5
2§
—_—
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Answer 10

(b) Solve 7x—9 <3x+4

Zx -4 & L+
~se

-3¢

bx —9 < 4
+9 +9C
b < 13

& &
v < '
6,

o x £ ¢S
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Answer1l
Solve 2x2 + 3x — -
QurpesTtic [NcQuUraTES
2
@L e >0 ALANS o« FacoorisE
G- - Srec CoAPH
LD Siens e ViFrerendr ef b -520 ecert A
Lecor Momeen Postive (c«Dx4)>0 * Use >chAxs As A
Czu;kf . Nomeen LNt

(2 +/‘/>(‘Z>< ) Ao ) e o ras

U crear By Cascerring
()c_{— L) (’ch — D >0 Stceten OF a:cx%@@wg

(
(lere 2€=-L >C= o

14

s fc
>C<-’L/>C>Z
e — —_—
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A

RUDATC [NeQuatTies

ALwANS - FaczoriSE
e - Skece A GrAPH

-l -5 20

C;c*')(?c Q))D = US/L/ 7Ckmﬂs A’S }AT

Nomzgen LiNc

— <l on X >%

e

|

Answer 12
"WHore N UmRéer
n is an integer such that 3n +2 < 14 and
Find all the possible values of n.
Cnc2 <14
-2 —
n <€ 1<
X Y
n <4
‘?
T
" x ét/\
——— > [ x(xs)
n
Ga > n S
—6 —6n
O > n-fn<sS
o > (V\ —-\)(A-g)
Cﬁ,{ (Cr Vmus n=l =5
l<n <S5
N CrdoBE 2,3, %
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Answer13

—
Solve the inequality x> > 3(x + 6)
N

2C1> Loc + LE

—Yoe ¥ —%  —\¥

SCDLBIE > 0

-

Ricaew NymeeR

\g _ < =" 5 x
Crent Ane DiFFemevr L,

QD UKDATC. (NeQualTieES

ALLuA~S o FTacoorlsE
aa, - SreceH A GrAPH

Z»Qx—SPO
Al D@g@>o - UQE_DCkaLS AVS ﬂk

“

(e~
Nomgen Lint

55 || DEa o 2 >%

——

S i =%
(x + 3)64;6) >0 o ——Lz(s:lt
e - -3 =6 ~ 63
Seceteu 4" (<) (< =€)
WE WartT x VAWES

i
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Answer14

Here is a rectangle and a right-angled triangle.

3x-2
2x
x—-1
.\
X
All measurements are in centimetres. i g
The area of the rectangle is greater than the area of the triangle. Anea OfF Taisncle

Find the set of possible values of x.

Y AN ;
hees oF |_1>keea Or A aile)
) b
(7(@_1) > I/“/L/xm » A
F O ( L

(s
St e x 7 2 )]

QurpeATic [NeQuatTies

AL A~S « FaczorlSE

T e - Cwet CoAPH
Lt — S 2 E—Lnrﬁ?o ecert A
< f")C,(L (x+D&-5)>0 * Use schas As A
—9¢C —
T Nompen Lene
17(,1 —Sx +2 7 o

R PTPS <~ o X>T
{ —P jo e o
\_,I —————3 —

A

sz—l><'>(_~ 1) >0

Loots 7‘;1("( =7

X<t o x>

Cur Sinee sc-1 s A (eweTe
¥ > Co JE (qrion & ’2:4-'[5
So X > 7

= T
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Answer15

Solve x2>3x+4

Tecee Lice AQurpeacic
EQuUATIEN - Creeren 4 ;é(,—e 0 (;ar-@

ra
>C 2 2)&‘%(‘“
B ¢ T T F

>cl~3>c _ e >0

(> Y —4) >0

> <L -l ore >x> & <
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